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Section A I Very Short Answer Type Questions

1. Find the equation of the tangent to 

Watch Video Solution

x2 + y2 − 6x + y2y − 12 = 0  at ( − 1, 1)

https://doubtnut.app.link/lkek2J5wfhb
https://doubtnut.app.link/MVcbJvrhfnb
https://doubtnut.app.link/MVcbJvrhfnb
https://dl.doubtnut.com/l/_yMohd7O2Lu1O


2. If the length of the tangent from  to 


the circle  is 1 the n find k.

Watch Video Solution

(5, 4)

x2 + y2 + 2ky = 0

3. Show that the circles given by the following

equation intersect each other orthogonally. 

 


.

Watch Video Solution

x2 + y2 − 2x − 2y − 7 = 0,

3x2 + 3y2 − 8x + 29y = 0

https://dl.doubtnut.com/l/_yMohd7O2Lu1O
https://dl.doubtnut.com/l/_cfhzAEpVwTzk
https://dl.doubtnut.com/l/_mnHljD3PjbS6


4. Find the coordinates of the points on the

parabola  whose focal distance is .

Watch Video Solution

y2 = 2x
5

2

5. If the eccentricity of a hyperbola is , then

find the eccentricity of its conjugate-

hyperbola.

Watch Video Solution

5

4

https://dl.doubtnut.com/l/_mnHljD3PjbS6
https://dl.doubtnut.com/l/_9yWbfmEOQocO
https://dl.doubtnut.com/l/_NXedM7ycuPGW
https://dl.doubtnut.com/l/_yKASRSiNapCb


6. Evaluate

Watch Video Solution

∫
1

√sin− 1 x√1 − x2dx  on I = (0, 1)

7. Evaluate .

Watch Video Solution

∫x2 cos xdx

8. Evaluate 

Watch Video Solution

a

∫

0

dx

x2 + a2

https://dl.doubtnut.com/l/_yKASRSiNapCb
https://dl.doubtnut.com/l/_lO2ca6aRRkNz
https://dl.doubtnut.com/l/_VjyKptBKlOpL


9. Find the area bounded by the parabola

 the x -axis and the lines 

 .

Watch Video Solution

y = x2,

x = − 1, x = 2

10. Find the order and degree of 

Watch Video Solution

( + ( )
3

) = 6y
d2y

dx
2

dy

dx

6
5

https://dl.doubtnut.com/l/_VjyKptBKlOpL
https://dl.doubtnut.com/l/_vtOGVLnrlzOK
https://dl.doubtnut.com/l/_HaeBYzkVDI8I


Section B Ii Short Answer Type Questions

1. Find the pole of  with respect 


to the circle 

.

Watch Video Solution

x + y + 2 = 0

x2 + y2 − 4x + 6y − 12 = 0

2. Find the equation and length of the

common chord of the following circles.

 
x2 + y2 + 2x + 2y + 1 = 0,

x2 + y2 + 4x + 3y + 2 = 0.

https://dl.doubtnut.com/l/_CKHS3pcwWFVe
https://dl.doubtnut.com/l/_6dv0f6TS4O1B


Watch Video Solution

3. Find the condition for the line 

lx+my+n=0 to be a tangent to the ellipse

Watch Video Solution

+ = 1
x2

a2

y2

b2

4. Find the eccentricity, co ordinates of foci-

length of latus rectum and equation of

https://dl.doubtnut.com/l/_6dv0f6TS4O1B
https://dl.doubtnut.com/l/_roEI0cGpYGPN
https://dl.doubtnut.com/l/_5IHUeI9IGP93


directrices of the folloeing ellipses. 

Watch Video Solution

3x2 + y2 − 6x − 2y − 5 = 0

5. Find the equation of the tangents to the

hyperbola  which are (i)

Parallel and (ii) perpendicular to the line

Watch Video Solution

3x2 − 4y2 = 12

y = x − 7

https://dl.doubtnut.com/l/_5IHUeI9IGP93
https://dl.doubtnut.com/l/_aWGKhIcE3XHY


6. Find the equation of the tangents to the

hyperbola  which are 

Perpendicular to the line 

Watch Video Solution

3x2 − 4y2 = 12

y = x − 7

7. Evaluate 

Watch Video Solution

π / 2

∫

0

dx
cos5 / 2 x

sin5 / 2 x = cos5 / 2 x

https://dl.doubtnut.com/l/_UQPLXWoDgpqe
https://dl.doubtnut.com/l/_PkHsmXozOLA0


Section C Iii Long Answer Type Questions

8. The solution of

 is

Watch Video Solution

(1 + y2)dx = (tan− 1 y − x)dy

1. If (2,0),(0,1),(4,5) and (0,c) are concyclic then

find c.

Watch Video Solution

https://dl.doubtnut.com/l/_0XZ6PfkR4Fxa
https://dl.doubtnut.com/l/_2HfikR0jgQMS
https://dl.doubtnut.com/l/_fzIfA7taMj2d


2. Find the equation to all possible common

tangents of the circles.

.

View Text Solution

x2 + y2 − 2x − 6x + 6 = 0 and x2 + y2 = 1

3. Derive the equation of a parabola in the

standard form  with diagram.

Watch Video Solution

y2 = 4ax

https://dl.doubtnut.com/l/_fzIfA7taMj2d
https://dl.doubtnut.com/l/_syHDwqReNzvs
https://dl.doubtnut.com/l/_NLvVWnrfcQQY


4. Obtain reduction formula for

 for an integer  and

deduce the value of .

Watch Video Solution

In = ∫sinn xdx n ≥ 2

∫sin4 xdx

5. 

Watch Video Solution

∫
dx

3 cos x + 4 sinx + 6

6. Evaluate 

(i) ∫
π

0
dx

x sinx

1 + sinx

https://dl.doubtnut.com/l/_NLvVWnrfcQQY
https://dl.doubtnut.com/l/_llsAP96pXADV
https://dl.doubtnut.com/l/_xYBnKhZPk68e


Watch Video Solution

7. The solution of  is

Watch Video Solution

=
dy

dx

x − 2y + 3

2x − y + 5

https://dl.doubtnut.com/l/_xYBnKhZPk68e
https://dl.doubtnut.com/l/_5JDE3FRCrirA

